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Proportion |

When two quantities, x and y, vary in such a way that xy is
a constant, they are said to be in inverse proportion, or
y is said to be inversely proportional to x.

In Class Activity 2, we have
xy=10x36=20 x 18 =... =60 x 6 = 360,
which is a constant.

Hence the cross-sectional area (x cm?) of the container and the depth (y cm) of water
in it are in inverse proportion.

In (b) and (e) of Class Activity 2, when the plotted points on each graph are joined
with a smooth curve, the graphs look like Fig. 1 and Fig. 2 respectively.

y y

Fig. | Fig. 2

&

The graph of y against x is a curve which approaches the y-axis when x is small, and

it tends to the x-axis as x increases. The curve is part of a curve, called hyperbola.

The graph of y against Lis part of a straight line which passes through the origin.
X

Since 1 is never zero, the origin is NOT on the graph.
X

In fact, the equation connecting x and y is
xy =360
ie. y =360 x 1.
X

Hence we have the graphs as shown above.

When two quantities, x and y, are in inverse proportion, we have

¥
< is a constant, say k.

7=k

y
‘ .
ie. y= k[;) or xy = k.

For example, in Class Activity 2, k£ = 360.
Hence xy = 360.

In the graph of y = l,
%

the small circle at the origin
O indicates that the point
(0, 0) is not included.

Dlscuss

In the equation
x% s 3601
what does 360
represent?
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